


Key language: sum, total parts and wholes; plus, add; altogether; more; ‘is equal to is the same as.

Concrete Pictorial Abstract
Combining two parts to make o whole (use other resources Childrery to- represent; the, cubes using dots or crosses. They could put; L +3=7
too eg: eggs, shells, teddy bears, cars). each part orv o part, whole model too. Four s apart; 3 is o part and, the whole is
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Counﬁng/omusing;nmnb@line&using/whe&oannm AbanmodeLw’rudmexmungb&ﬂwchildanowmbommﬂ\@ﬂ\m The abstrach number line:
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What is the sum of & and, 47
What is the total of & and &7
b+ Q

e 5 8




Regnouping;fonwkem:using/temﬁ{wmond/oowﬁe;\s/wbe& Child:mtodrwthebemﬁameand:countens/cubw Chxld:mtodwelopmundﬂ\stundmgqﬁ
i 9000 ’
. [
seeee PR ~
I e 645-5+0
6+5=0+h
TO + O using base 10. Continue to- demelop understanding of Children to- represent; the base, 10 e, lines Jor tens and dot/crosses for | &1 + 8
partitioning and, place value: ones: [+8=9
Ll + 8 - 10s \s ° LO + 9 = 49
Raiti |.
| o OO ‘*é
BRb | Liud
TO + TO using base |0. Continue to demelop Chidlmwbr\epxmbt}wbasemm@plawwmm Looking for ways to- make, |0.
unda\stundmgqflpalhbmmgond/piuwvolu& 36 + lo I
a5 VS = 36 +2h= 30+30=5%0
. e 5+5=10
10s Is ; 50 + 10 + | = 6l
% B 195 36
+25
Wﬁﬁe 61




Use of place value counters to- add, HTO + TO,
HTO + HTO etc. When there are |0 ones invthe |s column-

Chidren to- represent; the counters in o place value chart, circling

we exchange Jor | ten, wher there are |0 tens inv the 10s
column- we exchange Jor | hundred:
100s | 10s 1Is
00 000, | 000
loee | 0000 |89
o9 /|88,
1

N/ Word :
” Invyear 3, there are Al children and i year
v, there are 34 children.
How- many childrery irv total?

Al + 3k = 55. Prove it

21 | 34

21
+34

Al + 34 =

(R |

=l + 3k

Caleulate the sum of wentiy-one and,
hiry-Jour

243
+368

611
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1s

00 |0
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Concrete
Physically amay and, removing objects fromv a wholes
L -3=]

Childrerv to- dram the concrete resources they are using and, cross
oub the correct amount. The bar models canv also be used.

6-2=k

v0%s,_99

Counting back (using number lines or number tracks) childrery
start with, 6 and;counbbock,a

4 | 2

3

4

5

6

10

Childreny to- represent; the caleulation on
number line or number track ands showe their

jumps: Encourage children to use anv empty,
number line

012345678910




(u&ng;wbes« Nurmicon or Cuisenaire rods;

other objects cary also- be used),

Caloulate the difference between, 8 and 5

ddied——

CW@»MWWWO&WWO@&EMWW
usedonuseﬂwbmnwd&todhmtmiewhubt}wgnmdb}
calculate

'.OOOO Qs——

S j——

Find the difference between 8 and 5. 8 -

5,l'h@diyier\erwel&

Chldxmbexplomw
9-6=8-5=7 -k havethe same

difference.

Making |0 using ten frames. |4
-5

Childreny to present the ten frame pictorially and, discuss what,

Childrery to shows how they can make, 10

they didto-make 10, by partitioning the, subtrohend,
sicieiels SToTe . 14-5-9
NOCOEROO000 - 5=
000 sieieieie [eieiere / /\
AAAT 4
b - L4 =10
0-1=9
Children, to-represent; the base 10 pictorially Column method or children, could count:
o . back 7.
i o . 8
-_ 7
. M A
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Column method, using base 10 and haning to- exchange. b1 -
b

10s 1s 10s 1s 10s Is
R - \ ;ﬁ
5

Represent; the base, 10 pictorially, remembening to- shows the,
exd\fmg,e«

Formal columr method:  Childrery must
understand that; wherv they hanve exchanged,
the 10 they still, hane k| because & = 30 +
[.

_K
2 6
| 5

Column, method, using place value counters: 3k -
88

100s| 10s | 1s 100s| 10s | 1s
00 |000 (0000 (=] 2000

_— 0000

00
00
<:Co.ogg |
100s| 10s | 1s )
© 0000000
00

show- what, has been exchanged:

100s [ (0= | 1s

Formal column method: Childreny must

234

Rep spent £30, Turmyy spent £186. Hovernuachs |11 = 30 - 186 Missing digit calculations
e more did Raj spend? L-d
391 3 9
Coloulate the difference between 391 and. 186,
() 2 ; :
391 What s 186 Less than, 3917 HEE
186 ?




Caleulation policy: Multiplication

Key language: double; times, multiplied, by, the: produch of, groups of, lots of, equal groups:

Concrete Pictorial
Repmbe,d: grouping/repeated, addition Childrerv to- represent; the, practical, resources in o picture and, 3xhk =13
use o bar model:
4 L [ b+ b +b =13

Tmmsmwmmmw 88 % 88

oo oo oo
Number lines to- show repeated, groups~ Represent; this pictorially alongside: a number line eg; Abstract number line showing three: jumps of four:
3 x L
: 3xbk =13
I:
P ok PYS Em
FAT T T N T VLA A A A AR AL lo' 4 9 ‘z‘
o .....-.-......-.—:§ 4
. I.l----- Aad
Cuisenaire rods can be used, too:




Children to- represent; the: arays pictorially. Childrer to be able to- use: arv array, to wirite as ranges
A of caleulations eg,
88 | Zieloloes |50><=&a=xl(5)
5 w20 QOOOO 2+a+d+a+a=l0
00 | 0=5+5
00
Children to- represent; the, concrete: manipulatives pictorially. Children to- be encouraged to- show the steps they,
B0 FREREE i 2
e s . , .
o jelooBeleebe 10x 4=40
g , ‘ 5x 4=20

s>

40 + 20 = 60

A number line can also be used

e Y e e Vi VB
6 0 4 ¥ £ - P 1
.o.u\u/g:hli
Formal column methods with value counters Child;mtor\eppe/senbt}wcount@spictom'o“h. Childrer to record whab it is are doing to-
(buse|0wvdsobeused)3xpé{%m ' ' ; show i ey are dang
s | s 3x/:,13 3x 30 = 60
\ 3x3=9
10s 1Is RE{O00 30 3 60+9=69
00 0o |ooco
00 23
00 B looo 2
6 9 6 1 69




Formal column method, with place value counters. 6 Children to- represent; the counterstbase 10, pictorially Formals wittery method,
3 eq: the image below.
100s | 10s [ 15 00s | 10s | Is 6x23=
56 000 . T :
35 | 388 | 23
X 6
100s | 10s 1s
TR 138
00 000
o | s |
(-} o6 ©
: 09 ©] 900 11
) . 1 2 4
Wherv children start; to- multiply 3d x 3d and) bd, x Qd, ete., they should be: confidents with the abstract: ) ) e
To get 74k childrer have solved 6 x QL. :1 :2 :
To get A480 they have solved 0 x |3k —
T 1

A3

Answer: 3224

Conceptual, variation; different ways to ask children to- solve 6 x

10



23

23

23

23

23

23

Mai had to- swirm &3 lengths, 6 times o
week:
How- maniy lengths dids she swirm inv one
week?

V\/lﬂvl'}wcounta&pmvet}mb6 % A3
=138

Find the produch of 6 and, &3 6

x A3 =
L_:=6xa3

6 23
x 23 X 6

What is the caleulation? What is
the product?

100s | 10s

w

000000
000000
000000

11



Caleulation policy: Division

Concrete

Shanngu&ng/o/r\ang@of/obé@cis 6

3 groups of 2

@- - Childrer should: also- be encouraged to- use their &
T k times tables facts:
“““ = =
Repeated, subtraction using Cuisenaire rods above aruler 6 + & Children to- represent; repeated subtraction pictontally. Abstract number line to- represent; the, equal, groups
that hame beery subtracted.
-2 -2 -2 ‘ :
-t e
l@% G 2 4 56
o
J 07. ~ 06 3 growps

12



ad = |d withy remainders using lollipop sticks: Cuisenaire rods, Children to- represent; the lollipop: sticks pictortally, I3 = & - 3 remainder |
above @ ruler can also be used:
3+ 4 Childrens should: be encouraged, to- use their times
Use of lollipop sticks to- form wholes~ squares are made because , ‘ I ) l | addition orv @ number line.
< )y A )y L ), I — — '39mup&ofﬁ[i-,wiﬂv|l4tover\'
( ) i ¢ ) C D W
— There are: 3 whole squares, with | left over . 5 q “
Thﬂem3wholesapmwiﬂm|le¥toven
Shmng;u&ng;plnwvalu&counben& Chﬂd}mtorwmbt}wpiuwvaluecounm Chldmml'obeablbtonwk&mo}ﬂw
b =3 =1k ictorially. place value counters and write calculations to
000000 — show the process:
[ e T %] & e’m‘
10s 1Is 10s 1s : 10s [ Is L3 =30 + 13
30+3=10
—_— [ v E i A+ 3 =14k
) | O 00O 0+ b = It
=22 ) |Tg [00oo
Ll 10s | 1s ) 2
o |oooo |-14 , -
0000 = OO oJe,
0000 . :




Short, dissision using place value counters to-group: 615 +
5

“10s | s
© 00000

0000100000
DO000 00000

2 3

| scelg

1. Make 615 with place value counters.

2. How marwy groups of 5 hundreds carv yow make with 6
hundred, counters’?

3. Exchange | hundred for 10 tens.

4. How- many groups o} 5 tens can yow make withy |1 ten
counters?

5. Exchange | ten for 10 ones.
6. How many groups of 5 ones can you make with 5 ones?

Represent the place value counters pictorially. Childrery to- the caleulation using the short, dinvision

12
51615

A5k + |3

1000s | 100s | 10s Is

© 0000|000 |0000 | Wecan't group 2 thousands into
© groups of 12 so will exchange them.

We can group 24 hundreds 12 22544

into groups of 12 which leaves
with 1 hundred.

24

1

14



Usmg;ﬂrwpmtw’rwlemodebbdm how carv

yow dinide 615 by 5 without using short
dinssion?

.
.
s ",
/ | ™~
s |
.ef | @
.

After exchanging the hundred, we 12| 2544

have 14 tens. We can group 12 tens 24
into a group of 12, which leaves 2 tens. }g
2
0212
After exchanging the 2 tens, we 12 |2544
have 24 ones. We can group 24 ones 24
into 2 group of 12, which leaves no remainder. i‘;
24
24

Ihm»e£6|50nd;shmelbeqpaﬂg; What s the caleulation?

bard@am;unb&Howmudmdebeweadw 5 I 615 What is the answer?

615 pupils need to-be pub into- 5 groups. | 615 + 5 = ml 10s 1Is

i i /7 - -
How many will, be iny each group” - @@ oom

L-l =6l5+5
©0 |boooolocooo
© DOO000 00000
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